H & 0l & AHS B Ml A

20238 =0ila eI XIS S Ml

A NS E N

M NSEH g4zt

ol HEA XS Jlgtxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NP} 13,862,916 12,083,551 1,779,365
Al 3,000
= 13,859,916
NSZH -3t 12,863,431 11,054,391 1,809,040
Al 3,000
[Ea 12,860,431
HEA XSEHM JIgtxd 2,969,949 3,129,480 159,531
Al 3,000
s 2,966,949
NS BH &5t 98,256 149,520 A51,264
201 er23 | 68,556 85,594 A17,038
01 At2teltl 68,556 85,594 A17,038
OSIIZLIEHRE 4dl K=
79,6703 8 »70 44,616
Odgt+=h| 21,840
O=otery 822 M& 10,640
=R 60,0002 x24)H*62] 8,640
. BE= 2,000&*1,000H 2,000
OFehtg4s 52 M
120,0002 *10H 1,200
OHEANE S 24| 10,000,000& 10,000
o=2g+d 2,100
OSIHHSIAS AL
70,0003 12223 1,680
ORSZYdULTE e F4+E
70,0002 x6H*13] 420
202 04| 1,400 1,400
01 =LHO LI 1,400 1,400
o220l 1,400,000 1,400
203 HR=H] 12,000 12,000
03 A=A 2 FAIH| 12,000 12,000
o= 7,500
O= =AM & g% =4
7,500,000& 7,500
O 4,500
OFA =AM & 22 =X
4,500,000 4,500
204 AR A 11,400 11,925 A525
03 SE3g =3l 11,400 11,925 A525
oulg syl 50,0003 x19&~12& 11,400
301 Eet2 NS 4,900 4,900
14 0Bt 2as 4,900 4,900
OFehtAga 2%l &43d N
70,0003 x35H 2-%22] 4,900




2A:

UL DNy

33 NGEHM 2483
ol HEA XS Jlgtxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
asfsel K 1,982,836 2,230,462 N247,626
101 @124H| 8,040 7,962 78
M ORNZZE2NSE S 8,040 7,962 78
OAd80 Itz KEAGE 12| 8,040
oJlzs 76,9602 x 1 +61 4,69
Oxrd=+d 76,9603 1 x282 2,185
@r=1=i:] 5,000 1861 305
Ou sl 5,0002x1&+61 305
OJE+E 60,0002 x1&+32 180
Og&E=Itd| 400,000 x1E*12] 400
201 2= 10,000 10,000
01 At22t2l] 10,000 10,000
OAa30 X3 LEt2d| 10,000
O8E s+ MH 60,0003 +72H 4,320
OA a8 XA L XL
3502 *10,000H 3,500
OA2Z(MA 8) 7 2,180,000 2,180
207 AR 10,000 10,000
02 ®AHH] 10,000 10,000
OAMTO AAETT 2210l HaAlAL
-5 10,000,000& 10,000
301 EtE N = 800,000 1,260,000 A\460,000
14 JIEt2a=S 800,000 1,260,000 460,000
OAHBQl g XZAY
800,000,000 800,000
307 21201 & 1,154,7%6 952,500 202,296
02 QB HANSEER 32,29%6 0 32,296
OANTO QAT BHE 2
32,296,000 32,296
05 21t = 60,000 40,000 20,000
OAAZOl HHOHTIZ ADSIE
60,000,000& 60,000
08 OIXt2d=S 1,062,500 912,500 150,000
OAa50 BHUHEN= OIXNMEH
1,062,500,000& 1,062,500
SEH0I A2t 888,857 749,498 139,359
Al 3,000
= 885,857
201 er23| 235,357 170,131 65,226
01 At2tltl 44,000 54,000 10,000
OHEANY E2=Z M 9,000
O&dt= 5,000& *1,000H 5,000
O#iEMel 40,000 *1000H 4,000




2A:

UL DNy

M NAEZH &4dst
el YA XSGFH JlgtEd (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O&HEAE ELHI 5,000,000& 5,000
(OFSE=JNPSE= e 20,000,000 20,000
OFEANE BESEM SE 72
10,000,000& 10,000
02 2324l 151,357 116, 131 35,226
ONSAE 32| 151,357
o323 8,500,000& 123 102,000
Ogx=SHASHEE= 7,000,000& 7,000
(@FSPRelFSPS e 377,250 128 4,527
OagAldord e 764,000& 123 9,168
OsZIIRAES 189,000 *1CH*12& 2,268
OHI=2] EXl doId /X 2=
3,370,0002 3,370
OsIWLEAE ST B4
1,008,000 *8& 8,024
OAIEEHIR XUl 15,000,000 15,000
03 At2ZH| 40,000 0 40,000
OAHAUTAAE SHOISUHEA
20,000,000 20,000
OE&ESIIESIIAIY StOtSUEAN
20,000,000& 20,000
202 04d| 1,500 1,500
01 =W OdbI 1,500 1,500
O&2l0y| 1,500,000& 1,500
301 LPENSZ 12,000 10,000 2,000
Al 3,000
= 9,000
11 HAIAHIXIAZ 6,000 4,000 2,000
QUILTAIE e 6,000,000& 6,000
14 JIEt2 43 6,000 6,000 0
OStHIEH X &AH 6,000,000& 6,000
Al 3,000
= 3,000
401 AIEHIZL20HHI 640,000 567,867 72,133
01 Al&HI 640,000 563,354 76,646
ONEANE SX2el 300,000,000& 300,000
OHESIIBIINE EX EH L E=2 =
ZAl 240,000,000& 240,000
OAUAIT L&Y DHBA
100,000,000& 100,000
JHEU= SAIY =4 9,833,482 7,924,911 1,968,571
sSAY 58 N 337,600 277,980 59,620
201 Let2| 9,600 6,980 2,620
01 Ar2eltl 9,600 6,980 2,620




2A:

UL DNy

33 NGEHM 2483
Chel: AMAYS BAI|Y B4 (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ogt+==H| 3,200
OJlgely & M 2,000,000 2,000
O8E s+ MH 60,0002 *20H 1,200
o2g+g 6,400
OJIAX SIS EMS
100,000 8 *83] 6,400
307 el2to| & 128,000 231,000 103,000
02 2IZHBYAIHE & 128,000 131,000 A3,000
OJIgNE 82 N& 80,000,000 80,000
Oz SAJ|1gele & 7,000,000& 7,000
CERSIEREE R ER
16,000,000 16,000
02719 Malltisl 282 N3
25,000,000& 25,000
308 AtXIEMSOIE 200,000 40,000 160,000
11 S| 2SO0 UeZB XA AIE 200,000 40,000 160,000
O0LAINY JlE Y X
200,000,000 200,000
SN A= K& 4,019,000 3,588,400 430,600
307 glztol & 4,019,000 3,588,400 430,600
05 2ItRIE =2 119,000 88,400 30,600
oMY A= MRS
119,000,000 119,000
08 OIXt2d = 3,900,000 3,500,000 400,000
03Iy BEHEN= OIXHEH
3,900,000,000& 3,900,000
S| JIgAlIE K& 55,960 39,960 16,000
201 2= 40,960 24,960 16,000
02 35244l 40,960 24,960 16,000
0=32= # HAl 960
Ol e M=
40,0003 +20H+12& 960
OAIE2 &= X 40,000
OotLfzter R4 40,000,000& 40,000
401 AlEHIZL SO 15,000 15,000
01 Al&HI 15,000 15,000
Oetf2HEr MAEXR
15,000,000 * 100 2~ 15,000
JEN2ME 29 363,720 51,720 312,000
201 er23| 83,720 51,720 32,000
01 AtR2t2|HI 44,400 14,400 30,000
Odgt+=H| 44,400
OsaJIY Nt 22 MH
2,000 +2,000% 4,000




2A:

UL DNy

33 NGEHM 2483
Chel: AWAQE EA|Y |A (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o222z ¢ 2,600,000 2,600
ORoIBHIES 250,000& 12 3,000
OJIHEEME 2HE 018
400,000 123 4,800
OSl Jlgels +aA o8y S
NN 30,000,000& 30,000
2 5234l 39,320 37,320 2,000
0332= % HAl 10,120
o&IIes 600,000 * 12 7,200
Odotr = 100,000 »12& 1,200
OJIGH UYL} LS 2TRS
4302 *2,0000H 2-+22] 1,720
OAEEBIS X 29,200
OdlE = Alb| 3,000,000 3,000
OdIE =8 22l 2,000,000& *22] 4,000
Odtel| sl 1,000,000 1,000
Oa72 HISsd 500,000& 122 6,000
OJIgNd Z208 |2
400,000 12& 4,800
OJIgXAT2 ] 2R 0l8es
700,00021% 122 8,400
SHIH X2 2,000,0002 2,000
401 AlEHIL 2] 250,000 250,000
01 Al&H| 250,000 250,000
OQIEIZION ZAI(LH Y| Z&)
250,000,000 250,000
405 AtatE = 30,000 30,000
01 KU SEFSH| 30,000 30,000
O8lo8E X S YLl 20,000, 0002 20,000
O3lZA STME 7|
10,000,000 10,000
JIBENRRE LS 3,928,000 3,222,000 706,000
201 er23| 28,000 38,000 10,000
01 AtR2t2|HI 28,000 38,000 10,000
Odgt+=H| 28,000
OJIgXIAs doXt= It M=
1,560,000& 1,560
OS82 &% M
60,0003 1274 +23] 1,440
OfM21 &S=8I
5,000,000 «5I =12 25,000
402 2I2F X201 & 3,900,000 3,184,000 716,000
01 I SASE X (RHMITHR) 3,900,000 3,184,000 716,000
OIIHBENFRXEES 3,900,000,000& 3,900,000
SAI|Y A 350,000 300,000 50,000




A NS B
Hm: NAAN 245
Chel: AMAYS BAI|Y B4 (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 350,000 300,000 50,000
11 SIS0t oA AS A 360,000 300,000 50,000
OUILIX He AME2! XA
350,000,000 350,000
SYEE N 57,160 37,631 19,529
101 21A4H| 16,200 15,431 769
04 JIZtN2 2N S 2 16,200 15,431 769
ONZZH &AL 16,200
OJlZ=s 79,6703 6 232 10,995
Oxg=g 79,6703 »6H 8L 3,825
OF=F{:] 5,0003 6% +23& 690
OusSH| 5,0003 6 +23& 690
201 et 3| 18,960 22,200 A3,240
01 At2t2l] 18,960 21,000 22,040
O3 &LY staets HHlA 0122
330,000 * 122 3,960
O &E de3+7 29 15,000
Odgsr=2 100,000% x22& »483] 9,600
O2E= HH 5,400
S5 60,0003 x24 %22 2,880
. BE= 2,520,000 2,520
401 AIZHIZL R0 22,000 22,000
01 Al&H| 22,000 22,000
d4SsSHA HEAE & 2P A E
HEES 22,000,000 22,000
CARIE g8 sS4 562,642 407,220 155,422
201 et 3| 103,440 100,720 2,720
01 At22t2l] 93,440 90,720 2,720
O Al ZE 23 29 17,220
Oggt=ZH| 8,680
. S Y HE
60,000 1274 *43] 2,880
. =2 il M 50,000% x2JH+83] 800
g8 cIE2 AH
1,000 *500 1 *62] 3,000
o S|} K 10,0002 %2071 %103 2,000
O=2g+¢ 8,540
o SAIRIEE OIS MY
70,0002 19 =23 2,660
aFEg HHY
70,0002 x6H #4353 1,680
. TURIES Bead
70,0002 152 *43] 4,200
OZYUL2A 28 24,500




2A:
X XH -
o e

=aak

UL DNy

SA - B - SRUBH) - MRAR - BAS A HIDEZ
SCEDE
200,000 602 12,000
O=etel &
50,000% %502 2,500
Od=sAHLE 29 1,000,000& 102 10,000
ogsLsi & 50,000
OB4LET} 25
20,0002 %2,500H 50,000
O A 2401 1,720
OCIZE M= 300,000 *3H 900
OZE i M= 50,0002 «2H 100
OS82 &% M= 60,0002 * 12 720
03 A= SHI 10,000 10,000 0
O ARE MEUY Ha /I3&
10,000,000& 10,000
202 04| 6,000 6,000
03 =220 6,000 6,000
O=ARY HZ 2 og
2,000,000 3% 6,000
301 EtE N = 35,000 29,000 6.000
08 212+91=2|044| 20,000 20,000 0
O AHIE HAX HAANE
2,000,0002 *10H 20,000
4IE2d=S 15,000 9,000 6,000
O At 2401 15,000
o=z 5,000,000 *37H 2= 15,000
307 glztol & 418,202 221,800 196,402
02 2I2tB &AL 40,000 30,000 10,000
CARIE o 30,000
oxNg =& !
20,000,000 20,000
O AL 80
10,000,000 10,000
o243 & e
10,000,000 10,000
04 QIZHHAIAIH 2 £ 60,000 70,000 10,000
ORMI252| 24h5 tS= A
40,000,000 40,000
OM72l M2 AHEEX atetely At
20,000,000 20,000
05 2IHRIE S 318,202 121,800 196,402
O AtEZH 318,202,000& 318,202
22 A SAlgl2 HE 100,000 100,000
401 AIEHIR S 100,000 100,000
01 A28l 100,000 100,000




2A:

UL DNy

33 NGEHM 2483
Chel: AWAQE EA|Y |A (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
022N =Aslz Ad J=E +d %
gd A EY 100,000,000 100,000
olssht gt &4 € 24 119,400 119,400
201 er=23y| 54,400 54,400
01 AtR2t2|HI 51,200 51,200
O0ls=sXt g 22 51,200
Ozel 24 6,000,000 ~8& 48,000
O=otEHl E4 200,000 +8& 1,600
OAE2EH ¢ 200,000 82 1,600
02 S3=gl 3,200 0 3,200
Os&sR= € MA 400,000 ~8& 3,200
405 AtatE = 65,000 65,000
01 TR =S FSHI 65,000 65,000
Ol0lssit g8 &4 65,000
OdH(ZHI0IH) 7
50,000, 000& » 14 50,000
o=+l 15,000,000 *14] 15,000
I SAAMSASH 780,000 758,000 22,000
sSAJY S 780,000 758,000 22,000
oieloE K& 780,000 758,000 22,000
201 er2 3| 8,000 6,000 2,000
01 At2teltl 8,000 6,000 2,000
2et-ZH| 8,000
Odli2Ag 82=5 7Y
25,0002 *200H 5,000
O+ £JI1848 4l M
600,000 *5H 3,000
202 04l 30,000 30,000
01 2LHoIH 2,000 2,000
o220l 2,000,000& 2,000
03 =2AZ 0| 28,000 28,000 0
O3 SEAE 2 =AY R0 28,000
O==22 |IYAE HH X2 &
4,000,000 *1H 4,000
Odllel MAIZl SHHEIH K& els
4,000,000 *1H 4,000
Odllel AIZINEE WA olE
4,000,000& »2H 8,000
O=22 24018 |4 o2l 2=+
els 4,000,000& »2H 8,000
Odliel S8xg AIZAE XA &
4,000,000 1 4,000
308 AHXIEMSOIH 742,000 722,000 20,000
1 SIS0t EAS A 742,000 722,000 20,000




2A:

NP )y

. DG SEAMSA
ol SAJY SHAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o= g3t XA 100,000,000& 100,000
o1 UXNE ORIE A&
100,000,000 100,000
O22E RYAME H= K&
100,000,000 100,000
o2l HAIS SHEI} X
100,000,000 100,000
Odl2l AIZINHE ItA 100,000,000& 100,000
O+E2sE8s XN& 22,000,000 22,000
O=22 40|18 |4 o2l 2=+
120,000,000 120,000
Ooll2l SSEE ANETE X2
100,000,000& 100,000
YA HHI(XIHZH D) 219,485 266,960 N7 475
o2 (XIHZ M) 125,772 172,122 N46,350
A2 IH(XIHZ ML) 125,772 172,122 N46,350
101 @124H| 125,772 170,4%4 NI T2
01 &= 119,761 117,846 1,915
OAIZIRI DR
12,3213 x45A12H+ 188123 119,761
02 JIEtME = 6,011 52,648 N\46,637
OAIZIIZ2 R4S (LS IIH)
11, 1303 »45AI 2t 1+ 123 6,011
Jl=23HI(RASZH ) 93,713 94,838 A1,125
JI23HI(XIS=ZH ) 93,713 94,838 A1,125
201 2= 35,813 36,938 AT1,125
01 At22t2lt] 35,813 36,938 AT1,125
oget=ZH| 9,605
OSAna=d 9,605,000 9,605
(CF=E 8,000 *21& » 134« 12 26,208
202 O4H| 50,400 50,400
01 2LHA LI 50,400 50,400
o=l 200,000 x21H* 122 90,400
203 gF=4| 7,500 7,500
01 D22 HARFA| 3,300 3,300
o= 3,300,000& 3,300
M EAEgER=A 4,200 4,200 0
ORMEZIYER=2a] 350,000& 122 4,200




